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King Fahd University of Petroleum & Minerals
Electrical Engineering Department
EE-390; Exam-1
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Problem No. 1

(a) Assume all flags except CF are initially reset to zero and CF is set to 1. What are the

values of the flags after executing the following instruction sequence.

MOV AL, 2BH meofo (ol
- of © 0O

MOV AH, B4H "

o

ADC AL, AH | ! ;
——

SF | ZF AF PF CF ’ll0°°°°
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(b) What does the following instruction do?

XOR AX, AX (/&wrf A )(

(c) Write an assembly language instruction to set bit bs of NUMI. Assume the following
order for the bits of NUM1: b, bs bs b, by b, by by

OR  NMUMI v0sloe0o0B 204

(d) Write an assembly language instruction to reset bit bs of NUMI1. Assume the following
order for the bits of NUMI: b, by bs b, bs b, b; by .
DFH

AND  wpdny ! liiel " e-

(e) Write an assembly language instruction to complement bit bs of NUM1. Assume the
following order for the bits of NUM]1: b; bs bs b, by b, b, b,

Xok  MIAL 2oH

(f) Use rotate instructions to exchange the contents of AL with that of AH register (maximum

three lines of code) f"/" 5V ¢l . g
RoL AX (L
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(a) Assume all flags are initially reset to zero. What are the values of the flags after

executing the following sequence of instructions
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MOV AL, DSH jt ©
MOV AH, ECH
SUB AL, AH —
Q)
Status Flags
CF PF AF ZF SF OF
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(b) What would be the value in AL after executing the following sequence of
instruction?
MOV AL, 35H
AND AL, 04H
MOV CL, 2
SHR AL, CL
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(c) What would be the result of executing the followmg sequence of instructions?
MOV BL, 87H
MOV CL, 2H
SAR BL, CL
RCRBL, 1
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Write efficient (documented) program segments to do the following.

1) Count the number of zeros in AL. Result should be in CL.

2) Check if two adjacent bytes in the portion of memory between FIRST and
LAST are the same. The number of cases should be passed to DI.
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